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Law of Sines Worksheet & * AS A ¥AAS ¥ SSA
{/se the Law of Sines fo solve the following non-right triangles.” Round all decimals to the nearest 10",
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Now draw.your own triangles and solve using th

7. ZA=73%a=18,b=11

A \l

giy
e C
oV
Sﬁr\——fgg SQ!V\E
I
sin13_ Sinh Xk
| G

18-258°,c.711,A3°% 41, %

8. Z4=26° 2C=35%b0=13
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e Law of Sines. Round all. decimals to -'theihea'res‘t ]

8. ZB=102% £C=43° b=121

10. /A =55° ZB = 64°, ¢ =34

A= a= 6= 20 = a= b=
Answers:

1. 48,25.5,18.7 2. 37.6,38.4,15.7 3. 66,14.3,24.0

4. 65,23.8,32.2 5. 80.9,43.1, 20.2 6. 95,17.6,37.8

7. 35.8,71.2,17.8

10. 61,31.8,34.9

8. 119, 6.5, 8.5

9. 35,12.3,14.6
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Use the Law of Cosines to find the specified parts of the following non-right triangles. Round all decimals to the nearest 10,
: ; s ]
a® =b* +c* =2bccos 4 ‘ 1

L ines:
aw of Cosines: Pl o g n

¢ =a* +b* -2abcosC
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5.Find AC. ZB=63°, a=29, c=38 6.Find mz4. a=38, b=31, c=35
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M126 Worksheet 7.2 The Ambinguous Case of Law of Sines
Name, ik‘P
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Solve the SSA triangle. Indicate whether the given measurements result in no triangle, one

triangle, or two triangles. Solve the resulting triangle. Round the answer to the nearest tenth.
1)B=22°b=16.8,a= 2242 g/
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3a=7,b=9,B=49°

[§0- 55,94 =144,06
144,06+ 49= (93,0l
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